TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO.
0579-0486
APHIS-2020-0068

Animal Carre; Standards for Birds Not Bred for Use in Research Under the Animal Welfare Act

DATE PREPARED
February 13, 2023

											February 13, 2023	
REGULATION (9 CFR)	ACTIVITY			FORM NO.	ESTIMATED NO. OF RESPONDENTS	ESTIMATED NO. OF RESPONSES PER RESPONDENT	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE	ESTIMATED TOTAL ANNUAL BURDEN HOURS	ESTIMATED NO. OF RECORDKEEPERS	ESTIMATED TOTAL ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL RECORDKEEPING HOURS
The following information c 0579-0036 and show addition	ollection activities are approved under onal burden resulting from the rule change											
2.1 and 2.2	Online Prelicensing Tool to Guide Requests for Licensing/Registration Packets			None								
	Business or Other For-Profit	P1	×		6,417	1	6,417	0.500	3,209		-	-
	Not-for-profit Institution	P3	х		239	1	239	0.500	120	-	-	-
	Farms	P2	Х		179	1	179	0.500	90	-	-	-
	State, Local, and Tribal Governments	S1	Х		119	1	119	0.500	60		-	-
2.1, 2.2, 2.5, 2.25, 2.26, 2.30	Federal Debt Collection Form			APHIS 7030								
	Business or Other For-Profit	P1			6,417	1	6,417	0.250	1,605	-	-	-
	Not-for-profit Institution	P3			238	1	238	0.250	60	-	-	-
	Farms	P2			178	1	178	0.250	45	-	-	-
	State, Local, and Tribal Governments	S1			119	1	119	0.250	30			
2.1 and 2.2	Application for New License, Acknowledgement of Regulations and Standards			APHIS 7003A								
	Business or Other For-Profit	P1			6,417	1	6,417	0.250	1,605	-	-	-
	Not-for-profit Institution	P3			258	1	258	0.250	65	-	-	-
	Farms	P2			193	1	193	0.250	49	-	-	-
	State, Local, and Tribal Governments	S1			86	1	86	0.250	22	-	-	-
2.3	Request for 1st Pre-Licensing Inspection; Signature Acknowledgeing Receipt of the Inspection Report			APHIS 7008								
	Business or Other For-Profit	P1			6,038	1	6,038	4.000	24,152	-	-	-
	Not-for-profit Institution	P3			224	1	224	4.000	896	-	-	-
	Farms	P2			169	1	169	4.000	676	-	-	-
	State, Local, and Tribal Governments	S1			115	1	115	4.000	460		-	-
2.3	Request for 2nd and/or 3rd Pre-Licensing Inspection; Signature Acknowledgeing Receipt of Inspection Report			APHIS 7008								
	Business or Other For-Profit	P1			2,787	2	5,574	0.250	1,394	-	-	-
	Not-for-profit Institution	P3			128	2	256	0.250	64	-		-
	State, Local, and Tribal Governments	S1			10	2	20	0.250	5	-	-	-
2.6	Annual License Fee Credit Card Authorization			APHIS 7031 (Credit Card)								
	Business or Other For-Profit	P1			6,038	1	6,038	0.250	1,510		-	-
	Not-for-profit Institution	P3			225	1	225	0.250	57	-	-	-
	Farms	P2			169	1	169	0.250	43	-	-	-
	State, Local, and Tribal Governments	S1			113	1	113	0.250	29	-	-	-
2.6	Written Request for Correction of Renewal Application including Dollar Amount of Business			APHIS 7003								
	Business or Other For-Profit	P1			535	1	535	0.250	134		-	-
	Not-for-profit Institution	P3			20	1	20	0.250	5	-	-	-
	Farms	P2			16	1	16	0.250	4			-
	State, Local, and Tribal Governments	S1			11	1	11	0.250	3	-	-	-

TITLE OF INFORMATION COLLECTION DOCUMENT

Animal Care; Standards for Birds Not Bred for Use in Research Under the Animal Welfare Act

OMB NO. DOCKET NO. 0579-0486 APHIS-2020-0068

DATE PREPARED

February 13, 2023

Not-for-profit Institution P3 P2 P2 P2 P3 P4	REGULATION (9 CFR)	ACTIVITY		FORM NO.	ESTIMATED NO. OF RESPONDENTS	ESTIMATED NO. OF RESPONSES PER RESPONDENT	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE	ESTIMATED TOTAL ANNUAL BURDEN HOURS	ESTIMATED NO. OF RECORDKEEPERS	ESTIMATED TOTAL ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL RECORDKEEPING HOURS
Marke of the Statistical Signature S	2.11	Denial of a New License Including Response to a Request for a Hearing		None								
Substitution of Principation and Principation and Substitution 1		Business or Other For-Profit	P1		67	1	67	0.500	34	-	-	-
2.55 £36, 50 2 2 30 Application from the international content of the content of		Not-for-profit Institution	P3		29	1	29	0.500	15	-		
Action of the Control of Management of Registration was thin production. Application of Management of Registration was thin production. Application (Management of Registration was thin production. 200, 125, 149 (2) 20		State, Local, and Tribal Governments	S1		14	1	14	0.500	7	-		-
Multi-poly Markadismin 70 10 10 11 11 11 12 12 1	2.25, 2.26, and 2.30	Application for New Registration and Acknowledgement of Regulations and Standards		APHIS 7011A								
Part		Business or Other For-Profit	P1		318	1	318	0.250	80	-	-	
State Local, and Titled Cocentroline 24		Not-for-profit Institution	P3		14	1	14	0.250	4	-		
2.13, 2.30, and 2.30 Apriles 70.11 Business or Other For Friedrik Fig. Business or Other For Friedrik F		Farms	P2		11	1	11	0.250	3			
Butteres or Other For Prints		State, Local, and Tribal Governments	S1		7	1	7	0.250	2			-
Note that the part institution	2.25, 2.26, and 2.30	Application for Registration Update		APHIS 7011								
Rames Fig. Rames Fig. Rames		Business or Other For-Profit	P1		1,120	1	1,120	0.250	280		-	
2.31 State Local, and Tribed Governments S1 Note Note State St		Not-for-profit Institution	P3		49	1	49	0.250	13			-
None		Farms	P2		37	1	37	0.250	10			-
Conversion Schrickhard February Februa		State, Local, and Tribal Governments	S1		25	1	25	0.250	7			-
New foregraphic resistation	2.31	Written Notification of Failure to Adhere to Correction Scheduled		None								
Parms		Business or Other For-Profit	P1		3	1	3	0.250	1	3	0.160	1
2.31 and 2.35 Records of IACUC Activities P1		Not-for-profit Institution	P3		1	1	1	0.250	1	1	0.160	1
None			P2		1	1	1		1	1		1
Next-for-profit resitution	2.31 and 2.35	Records of IACUC Activities		None								
State, Local, and Tribal Governments		Business or Other For-Profit	P1		50	1	50	1.000	50	50	4.000	200
2.33 Witten Program of Veterinary Care for Research Facilities Program of Veterinary Care for Research Facilities Program of Veterinary Care for Research Facilities Program of Veterinary Care for Exhibitors or equivalent formati) Program of Veterinary Care for Exhibitors or equivalent formati) Program of Veterinary Care for Exhibitors or equivalent formati) Program of Veterinary Care for Exhibitors or equivalent formati) Program of Veterinary Care for Exhibitors or equivalent formati) Program of Veterinary Care for Exhibitors or equivalent formati) Program of Veterinary Care for Exhibitors or equivalent formati) Program of Veterinary Care for Exhibitors or equivalent formati) Program of Veterinary Care for Exhibitors or equivalent formati) Program of Veterinary Care for Exhibitors or equivalent formati) Program of Veterinary Care for Exhibitors or equivalent formati) Program of Veterinary Care for Exhibitors or equivalent formati) Program of Veterinary Care for Exhibitors or equivalent formati) Program of Veterinary Care for Exhibitors or equivalent formati) Program of Veterinary Care for Exhibitors or equivalent formati) Program of Veterinary Care for Exhibitors or equivalent formati) Program of Veterinary Care for Exhibitors or equivalent formati) Program of Veterinary Care for Exhibitors or equivalent formati) Program of Veterinary Care for Exhibitors or equivalent formati) Program of Veterinary Care for Exhibitors or equivalent formati Program of Veterinary Care for Exhibitors or equivalent formati Program of Veterinary Care for Exhibitors or equivalent formati Program of Veterinary Care for Exhibitors or equivalent formati Program of Veterinary Care for Exhibitors or equivalent formati Program of Veterinary Care for Exhibitors or equivalent formati Program of Veterinary Care for Exhibitors or exh					50	1	50		50	50		200
Subject		State, Local, and Tribal Governments	S1		50	1	50	1.000	50	50	4.000	200
Not-for-profit Institution P3 State, Local, and Tribal Governments S1 S1 S1 S1 S1 S1 S1 S	2.33	Written Program of Veterinary Care for Research Facilities		APHIS 7002 (optional or equivalent format)								
State, Local, and Tribal Governments S1 APHIS 7023 (optional or equivalent format) P2 1 92 1,000 92 92 0,500		Business or Other For-Profit	P1		89	1	89	1.000	89	89	0.500	45
State, Local, and Tribal Governments S1 APHIS 7002 (optional or equivalent format) P1 APHIS 7002 (optional or equivalent format) P2 1.000 92 92 0.500		Not-for-profit Institution	P3		69	1	69	1.000	69	69	0.500	35
APHIS 7002 (optional or equivalent format) APHIS 7002 (optiona			S1		92	1	92	1.000	92	92	0.500	46
Not-for-profit Institution	2.40	Written Program of Veterinary Care for Exhibitors		APHIS 7002 (optional or equivalent format)								
Farms P2		Business or Other For-Profit	P1		6,106	1	6,106	1.000	6,106	5,175	0.500	2,588
State, Local, and Tribal Governments S1		Not-for-profit Institution	P3		225	1	225	1.000	225	225	0.500	113
2.36 Annual Report of Research Facility APHIS 7023 (optional or equivalent format) Business or Other For-Profit Profit Profit Institution P3 APHIS 7023 (optional or equivalent format) 89 1 89 2.000 178 89 1.000 180 2.000 136 68 1.000		Farms	P2		139	1	139	1.000	139	139	0.500	70
Business or Other For-Profit P1 89 1 89 2.000 178 89 1.000 Not-for-profit Institution P3 68 1 68 1.000		State, Local, and Tribal Governments	S1		113	1	113	1.000	113	113	0.500	57
Not-for-profit Institution P3 68 1 68 2.000 136 68 1.000	2.36			APHIS 7023 (optional or equivalent format)								
		Business or Other For-Profit	P1		89	1	89	2.000	178	89	1.000	89
		Not-for-profit Institution	P3		68	1	68	2.000	136	68	1.000	68
State, Local, and Initial Governments S1 93 1 93 2.000 186 93 1.000		State, Local, and Tribal Governments	S1		93	1	93	2.000	186	93	1.000	93

TITLE OF INFORMATION COLLECTION DOCUMENT

Animal Care; Standards for Birds Not Bred for Use in Research Under the Animal Welfare Act

OMB NO. DOCKET NO. 0579-0486 APHIS-2020-0068

DATE PREPARED

February 13, 2023

REGULATION (9 CFR)	ACTIVITY		FORM NO.	ESTIMATED NO. OF RESPONDENTS	ESTIMATED NO. OF RESPONSES PER RESPONDENT	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE	ESTIMATED TOTAL ANNUAL BURDEN HOURS	ESTIMATED NO. OF RECORDKEEPERS	ESTIMATED TOTAL ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL RECORDKEEPING HOURS
2.36	Continuation Sheet for Annual Report of Research Facility		APHIS 7023A (optional or equivalent format)								
	Business or Other For-Profit	P1		17	1	17	2.000	34	17	1.000	17
	Not-for-profit Institution	P3		14	1	14	2.000	28	14	1.000	14
	State, Local, and Tribal Governments	S1		19	1	19	2.000	38	19	1.000	19
2.36	Annual Report of Research Facility Column E Explanation		APHIS 7023B (optional or equivalent format)								
	Business or Other For-Profit	P1		17	1	17	2.000	34	17	1.000	17
	Not-for-profit Institution	P3		14	1	14	2.000	28	14	1.000	14
	State, Local, and Tribal Governments	S1		19	1	19	2.000	38	19	1.000	19
2.36	Site Specific Annual Report of Research Facility		APHIS 7023C (optional or equivalent format)								
	Business or Other For-Profit	P1		89	1	89	2.000	178	89	1.000	89
	Not-for-profit Institution	P3		68	1	68	2.000	136	68	1.000	68
	State, Local, and Tribal Governments	S1		93	1	93	2.000	186	93	1.000	93
2.38 and 2.125	Registrant Furnish All Requested Information		None								
	Business or Other For-Profit	P1		5,437	2	10,874	1.000	10,874	5,437	1.000	5,437
	Not-for-profit Institution	P3		239	2	478	1.000	478	239	1.000	239
	Farms	P2		179	2	358	1.000	358	179	1.000	179
	State, Local, and Tribal Governments	S1		120	2	240	1.000	240	120	1.000	120
2.38 and 2.126	Access and Inspection of Records and Property; Signature Acknowledgeing Receipt of the Inspection Report		APHIS 7008								
	Business or Other For-Profit	P1		6,415	2	12,830	1.000	12,830	5,437	1.000	5,437
	Not-for-profit Institution	P3		239	2	478	1.000	478	239	1.000	239
	Farms	P2		179	2	358	1.000	358	179	1.000	179
	State, Local, and Tribal Governments	S1		120	2	240	1.000	240	120	1.000	120
2.38 and 2.78	Health Certificate in Transport, Inspection by a licensed veterinarian		APHIS 7001 (optional or equivalent format)								
	Business or Other For-Profit	P1		4,832	1	4,832	0.500	2,416	-	-	
	Not-for-profit Institution	P3		180	1	180	0.500	90	-	-	-
	Farms	P2		135	1	135	0.500	68	-	-	-
	State, Local, and Tribal Governments	S1		90	1	90	0.500	45	-		-
2.50, 2.75 and 2.80	Record Animals on Hand (Other than Dogs and Cats)		APHIS Form 7019 (optional or equivalent format)								
	Business or Other For-Profit	P1		6,415	1	6,415	1.000	6,415	5,437	1.000	5,437
	Not-for-profit Institution	P3		239	1	239	1.000	239	239	1.000	239
	Farms	P2		180	1	180	1.000	180	179	1.000	179
	State, Local, and Tribal Governments	S1		120	1	120	1.000	120	120	1.000	120
2.50, 2.75 and 2.80	Record of Acquisition, Disposition, or Transport of Animals (Other Than Dogs and Cats)		APHIS Form 7020 (optional or equivalent format)								
	Business or Other For-Profit	P1		6,416	1	6,416	1.700	10,908	5,437	1.000	5,437
	Not-for-profit Institution	P3		239	1	239	1.700	407	239	1.000	239

TITLE OF INFORMATION COLLECTION DOCUMENT

Animal Care; Standards for Birds Not Bred for Use in Research Under the Animal Welfare Act

OMB NO. DOCKET NO. 0579-0486 APHIS-2020-0068

DATE PREPARED

February 13, 2023

REGULATION (9 CFR)	ACTIVITY			FORM NO.	ESTIMATED NO. OF RESPONDENTS	ESTIMATED NO. OF RESPONSES PER RESPONDENT	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE	ESTIMATED TOTAL ANNUAL BURDEN HOURS	ESTIMATED NO. OF RECORDKEEPERS	ESTIMATED TOTAL ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL RECORDKEEPING HOURS
	Farms	P2			180	1	180	1.700	306	179	1.000	179
	State, Local, and Tribal Governments	S1			120	1	120	1.700	204	120	1.000	120
2.50, 2.75 and 2.80	Continuation Sheet for Record of Acquisition, Disposition, or Transport of Animals (Other Than Dogs and Cats)			APHIS 7020A (optional or equivalent format)								
	Business or Other For-Profit	P1			4,832	1	4,832	1.700	8,215	4,095	1.000	4,095
	Not-for-profit Institution	P3			180	1	180	1.700	306	180	1.000	180
	Farms	P2			135	1	135	1.700	230	135	1.000	135
	State, Local, and Tribal Governments	S1			90	1	90	1.700	153	90	1.000	90
2.75	Written Request for Variance Using Other Than APHIS Form 7005, 7006, and 7006A			None								
	Business or Other For-Profit	P1			106	1	106	0.500	53	-	-	-
	Not-for-profit Institution	P3			4	1	4	0.500	2	-		
	Farms	P2			3	1	3	0.500	2	-		
	State, Local, and Tribal Governments	S1			3	1	3	0.500	2	-	-	-
2.75	Request for Hearing			None								
	Business or Other For-Profit	P1			12	1	12	0.500	6	-	-	-
2.76	Auction Sales or Broker Records			None								
	Business or Other For-Profit	P1			80	2	160	2.000	320	68	1.000	68
	Not-for-profit Institution	P3			3	2	6	2.000	12	3	1.000	3
	Farms	P2			2	2	4	2.000	8	2	1.000	2
	State, Local, and Tribal Governments	S1			2	2	4	2.000	8	2	1.000	2
2.77 and 2.79	Carriers and Intermediate Handlers Records; Consignor Written Guarantee; Attempt to Notify Consignor			None								
	Business or Other For-Profit	P1			91	2	182	1.000	182	91	1.000	91
	Not-for-profit Institution	P3			4	2	8	1.000	8	4	1.000	4
	Farms	P2			3	2	6	1.000	6	3	1.000	3
	State, Local, and Tribal Governments	S1			2	2	4	1.000	4	2	1.000	2
2.125	Information Concerning Dealers, Exhibitors, Operators of Auction Sales, Intermediate Handlers, and Carriers Business-Beyond What is Currently Required			None								
	Business or Other For-Profit	P1			6,416	1	6,416	1.000	6,416	5,437	0.250	1,360
	Not-for-profit Institution	P3			239	1	239	1.000	239	239	0.250	60
	Farms	P2			179	1	179	1.000	179	179	0.250	45
	State, Local, and Tribal Governments	S1			120	1	120	1.000	120	120	0.250	30
2.126	Submission of Itinerary of Exhibition with Overnight Travel			APHIS Form 7010 (optional or equivalent format)			-		-			
	Business or Other For-Profit	P1			358	5	1,790	0.500	895	-	-	
	Not-for-profit Institution	P3			63	5	315	0.500	158	-	-	-
	Farms	P2			48	5	240	0.500	120	-	-	-
	State, Local, and Tribal Governments	S1			31	5	155	0.500	78	-	-	-
2.126	Submission of Itinerary of Exhibition with Overnight Travel			APHIS Form 7010A (optional or equivalent format)					-			
	Business or Other For-Profit	P1			15	5	75	0.500	38	-	-	-
	Not-for-profit Institution	P3	1		3	5	15	0.500	8			1

TITLE OF INFORMATION COLLECTION DOCUMENT омв но. DOCKET NO. 0579-0486 APHIS-2020-0068 Animal Care; Standards for Birds Not Bred for Use in Research Under the Animal Welfare Act DATE PREPARED February 13, 2023 ESTIMATED NO. OF RESPONSES PER RESPONDENT ESTIMATED TOTAL ANNUAL BURDEN HOURS ESTIMATED TOTAL ANNUAL HOURS PER RECORDKEEPER REGULATION (9 CFR) ESTIMATED NO. OF RESPONDENTS ESTIMATED TOTAL ANNUAL RESPONSES ESTIMATED HOURS PER RESPONSE ESTIMATED NO. OF RECORDKEEPERS ESTIMATED TOTAL ANNUAL RECORDKEEPING HOURS ACTIVITY FORM NO. Farms P2 10 0.500 State, Local, and Tribal Governments S1 0.500 USDA-APHIS Animal Care Online Complaint NA 1 Х 0.500 Individuals or Households 293 293 147 Business or Other For-Profit P1 244 244 0.500 122 The following information collection activities are new 2.50(e)(2) Bird Identification None Business or Other For-Profit P1 6,417 0.250 1,605 P3 0.250 Not-for-profit Institution 239 239 60 P2 179 179 0.250 Farms S1 119 119 0.250 State, Local, and Tribal Governments 3.154(e) Environment Enhancement Plan (EEP) Exemption None Records usiness or Other For-Profit Ρ1 0.500 P3 0.500 Not-for-profit Institution 30 15 P2 0.500 Farms S1 15 0.500 State, Local, and Tribal Governments 3.158(a)(2), (b)(1) Maintain Cleaning, Sanitation Records None Business or Other For-Profit Ρ1 РЗ Not-for-profit Institution 2,400 0.250 600 P2 0.250 State, Local, and Tribal Governments S1 90 0.250 23 3.161(b), (c) Consignment Document None Business or Other For-Profit P1 295 0.250 РЗ Not-for-profit Institution 30 150 0.250 38 Farms P2 0.250 S1 15 0.250 State, Local, and Tribal Governments 19 3.164(e),(f) Certification for Shipment of Birds (TPD) None Business or Other For-Profit P1 59 295 0.250 P3 Not-for-profit Institution 30 150 0.250 38 Farms P2 25 0.250 S1 State, Local, and Tribal Governments 15 75 0.250 19 7,247 118,543 112,348 46,307 35,529

GRAND TOTALS

7,247

164,850

147,877